
O
ct
ob

er



October 2023

RODRUNNER REF NO: BJ-AF-1004K ADAPTABLE ALFA ROMEO

Ball Joint Kit

Weight: 0,746

TONALE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 505650280, 505650280

Length: 72,3

RODRUNNER REF NO: LS-CH-1037 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,38

S10 PICKUP

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2004 Rear K700036, 15989670

Length: 170

w/Sport Package/ USA
Market

www.rodrunnerparts.com 1



October 2023

RODRUNNER REF NO: BJ-CR-1004 ADAPTABLE CHRYSLER

Ball Joint

Weight: 0,414

SEBRING

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

ST22/JR 2001-2006 Front Lower K7449, MR369795, MR369796

Length: 89,3

USA Market

RODRUNNER REF NO: BJ-CR-1004 ADAPTABLE DODGE

Ball Joint

Weight: 0,414

STRATUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2000-2006 Front Lower K7449, MR369795, MR369796

Length: 89,3

USA Market

www.rodrunnerparts.com 2



October 2023

RODRUNNER REF NO: BJ-CR-1004 ADAPTABLE MITSUBISHI

Ball Joint

Weight: 0,414

ECLIPSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D52A/D53A 2000-2005 Front Lower K7449, MR369795, MR369796

Length: 89,3

USA Market

RODRUNNER REF NO: BJ-CR-1004 ADAPTABLE MITSUBISHI

Ball Joint

Weight: 0,414

GALANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

EA1/EA2/EA3/
EA4/EA5/EA7/

1996-2004 Front Lower K7449, MR369795, MR369796

Length: 89,3

USA Market

www.rodrunnerparts.com 3



October 2023

RODRUNNER REF NO: BJ-DO-1014 ADAPTABLE DODGE

Ball Joint

Weight: 1,08

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2009 Front Lower K500050, 3683983AB

Length: 124 Bolt Metric: 3/4" 16 UNF 2A

W/Out Threaded Ball
Joint/ USA Market

YEAR ONLY
2000-2002

RODRUNNER REF NO: BJ-DO-1014 ADAPTABLE DODGE

Ball Joint

Weight: 1,08

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2009 Front Lower K500050, 3683983AB

Length: 124 Bolt Metric: 3/4" 16 UNF 2A

W/Out Threaded Ball
Joint/ USA Market

YEAR ONLY
2000-2002

www.rodrunnerparts.com 4



October 2023

RODRUNNER REF NO: BJ-DO-1044 ADAPTABLE DODGE

Ball Joint

Weight: 0,559

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Upper K7206T, 52037667, 52037674,
52038730

Length: 106,3 Bolt Metric: M14X1,5

USA Market / RWD

RODRUNNER REF NO: BJ-DO-1044 ADAPTABLE DODGE

Ball Joint

Weight: 0,559

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Upper K7206T, 52037667, 52037674,
52038730

Length: 106,3 Bolt Metric: M14X1,5

USA Market / RWD

www.rodrunnerparts.com 5



October 2023

RODRUNNER REF NO: BJ-DO-1044 ADAPTABLE DODGE

Ball Joint

Weight: 0,559

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Upper K7206T, 52037667, 52037674,
52038730

Length: 106,3 Bolt Metric: M14X1,5

USA Market / RWD

RODRUNNER REF NO: TC-FO-118 ADAPTABLE FORD

Control Arm

Weight: 1,409

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front Right LB5Z3078A

Length: 344

w/Base Ver.;W/ST Ver.;
W/Platinum Ver.

www.rodrunnerparts.com 6



October 2023

RODRUNNER REF NO: TC-FO-119 ADAPTABLE FORD

Control Arm

Weight: 1,409

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front Left LB5Z3079A

Length: 344

w/Base Ver.;W/ST Ver.;
W/Platinum Ver.

RODRUNNER REF NO: BJ-FO-1374 ADAPTABLE FORD

Ball Joint

Weight: 0,496

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Upper ML3Z3084A*, ML3Z3085A*

Length: 127 Bolt Metric: M12X1,75

www.rodrunnerparts.com 7



October 2023

RODRUNNER REF NO: TC-FO-1838 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 7,324

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T6 2019- Front Right
Lower

KB3Z3078A

Length: 364,5 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1274 Ball Joint Front Lower KB3Z3078A*, KB3Z3079A*

RODRUNNER REF NO: TC-FO-1839 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 7,324

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T6 2019- Front Left
Lower

KB3Z3079A

Length: 364,5 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1274 Ball Joint Front Lower KB3Z3078A*, KB3Z3079A*

www.rodrunnerparts.com 8



October 2023

RODRUNNER REF NO: AJ-FO-712A ADAPTABLE FORD

Tie Rod

Weight: 0,86

TRANSIT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1987-1992 Front 92VB3L519A1B

Length: 397 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

Superseeded Version

RODRUNNER REF NO: AJ-FO-712A ADAPTABLE FORD

Tie Rod

Weight: 0,86

TRANSIT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T12/T15 1992-2000 Front 92VB3L519A1B

Length: 397 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

Superseeded Version

www.rodrunnerparts.com 9



October 2023

RODRUNNER REF NO: AJ-HY-1143 ADAPTABLE HYUNDAI

Tie Rod

Weight: 0,725

STARIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

US4 2022- Front 56540CG000

Length: 248 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-HY-1258 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 1,6

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SM 2001-2006 Rear Right
Upper

5520126550

Length: 526,5 Bolt Metric: M14X1,5

www.rodrunnerparts.com 10



October 2023

RODRUNNER REF NO: TC-HY-1259 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 1,6

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SM 2001-2006 Rear Left
Upper

5520026550

Length: 526,5 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-JE-1014 ADAPTABLE JEEP

Ball Joint

Weight: 0,495

GLADIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JT 2020- Front Upper K500433

Length: 111 Bolt Metric: M14X1,5

USA Market

www.rodrunnerparts.com 11



October 2023

RODRUNNER REF NO: BJ-JE-1014 ADAPTABLE JEEP

Ball Joint

Weight: 0,495

WRANGLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JL 2018- Front Upper K500433

Length: 111 Bolt Metric: M14X1,5

USA Market

RODRUNNER REF NO: BJ-JE-394 ADAPTABLE JEEP

Ball Joint

Weight: 0,542

GLADIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JT 2020- Front Lower MS25575, 68531030AB,
68388819AA

Length: 111 Bolt Metric: M14X1,5

USA Market

www.rodrunnerparts.com 12



October 2023

RODRUNNER REF NO: BJ-JE-394 ADAPTABLE JEEP

Ball Joint

Weight: 0,542

WRANGLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JL 2018- Front Lower MS25575, 68531030AB,
68388819AA

Length: 111 Bolt Metric: M14X1,5

USA Market

RODRUNNER REF NO: TR-KI-651 ADAPTABLE KIA

Tie Rod End

Weight: 0,645

BESTA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1990-1997 Front K71032240

Length: 158 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 13



October 2023

RODRUNNER REF NO: TR-KI-651 ADAPTABLE KIA

Tie Rod End

Weight: 0,645

BONGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2005- Front K71032240

Length: 158 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-KI-651 ADAPTABLE KIA

Tie Rod End

Weight: 0,645

K2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SD 2003-2009 Front K71032240

Length: 158 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 14



October 2023

RODRUNNER REF NO: TC-LA-428 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 4,54

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L319 2004-2009 Front Right
Upper

LR051617, LR026095, RBJ500840

Length: 246 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-LA-145 Ball Joint Front Upper RBK500170

for Special Armoured
Vehicles

RODRUNNER REF NO: TC-LA-428 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 4,54

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L320 2006-2013 Front Right
Upper

LR051617, LR026095, RBJ500840

Length: 246 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-LA-145 Ball Joint Front Upper RBK500170

VIN:Until 9A999999

www.rodrunnerparts.com 15



October 2023

RODRUNNER REF NO: TC-LA-429 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 4,54

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L319 2004-2009 Front Left
Upper

LR074838, LR051618, RBJ500850

Length: 246 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-LA-145 Ball Joint Front Upper RBK500170

for Special Armoured
Vehicles

RODRUNNER REF NO: TC-LA-429 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 4,54

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L320 2006-2013 Front Left
Upper

LR074838, LR051618, RBJ500850

Length: 246 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-LA-145 Ball Joint Front Upper RBK500170

VIN: until 9A999999

www.rodrunnerparts.com 16



October 2023

RODRUNNER REF NO: TC-M-1088 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 6,53

VITO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W447 2014- Front Right 4473303000

Length: 346 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-M-615K Ball Joint Kit Front Lower
4473330127, 4473303500*,
4473303000, 4473303100

Only for 4x4

RODRUNNER REF NO: TC-M-1088S ADAPTABLE MERCEDES

Control Arm

Weight: 5,64

VITO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W447 2014- Front Right 4473303000*

Length: 273

Only for 4x4

www.rodrunnerparts.com 17



October 2023

RODRUNNER REF NO: TC-M-1089 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 6,53

VITO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W447 2014- Front Left 4473303100

Length: 346 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-M-615K Ball Joint Kit Front Lower
4473330127, 4473303500*,
4473303000, 4473303100

Only for 4x4

RODRUNNER REF NO: TC-M-1089S ADAPTABLE MERCEDES

Control Arm

Weight: 5,64

VITO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W447 2014- Front Left 4473303100*

Length: 273

Only for 4x4

www.rodrunnerparts.com 18



October 2023

RODRUNNER REF NO: AJ-M-1143 ADAPTABLE MERCEDES

Tie Rod

Weight: 0,712

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022- Front 2974608700

Length: 282 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: LS-M-116 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,349

SL-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R232 2022- Rear 2323203300

Length: 220 Bolt Metric: M12X1,5

www.rodrunnerparts.com 19



October 2023

RODRUNNER REF NO: AJ-O-1023 ADAPTABLE OPEL

Tie Rod

Weight: 0,633

ASTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J 2009-2015 Front 13314168

Length: 293 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

W/Hydraulic Power
Steering

RODRUNNER REF NO: TC-O-1078 ADAPTABLE OPEL

Lateral Arm

Weight: 2,42

INSIGNIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z18 2018-2020 Rear Right 84149392, 23350588

Length: 566

FWD

www.rodrunnerparts.com 20



October 2023

RODRUNNER REF NO: TC-O-1078 ADAPTABLE BUICK

Lateral Arm

Weight: 2,42

REGAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2018- Rear Right 84149392, 23350588

Length: 566

FWD

RODRUNNER REF NO: TC-O-1078 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 2,42

MALIBU

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2016- Rear Right 84149392, 23350588

Length: 566

FWD

www.rodrunnerparts.com 21



October 2023

RODRUNNER REF NO: TC-O-1079 ADAPTABLE OPEL

Lateral Arm

Weight: 2,42

INSIGNIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z18 2018-2020 Rear Left 84149391, 23350587

Length: 566

FWD

RODRUNNER REF NO: TC-O-1079 ADAPTABLE BUICK

Lateral Arm

Weight: 2,42

REGAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2018- Rear Left 84149391, 23350587

Length: 566

FWD

www.rodrunnerparts.com 22



October 2023

RODRUNNER REF NO: TC-O-1079 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 2,42

MALIBU

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 2016- Rear Left 84149391, 23350587

Length: 566

FWD

RODRUNNER REF NO: TC-P-1128 ADAPTABLE PEUGEOT

Lateral Arm

Weight: 1,155

508

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R83 2018- Rear Right
Lower

9820632280

Length: 382

www.rodrunnerparts.com 23



October 2023

RODRUNNER REF NO: TC-P-1129 ADAPTABLE PEUGEOT

Lateral Arm

Weight: 1,155

508

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R83 2018- Rear Left
Lower

9820632480

Length: 382

RODRUNNER REF NO: TR-RA-131 ADAPTABLE RAM

Tie Rod End

Weight: 1,302

2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011- Front DS300072, 68111304AA

Length: 235 Bolt Metric: M14X1,5 Housing Metric: M27X1,5

YEAR ONLY
2014-2018

www.rodrunnerparts.com 24



October 2023

RODRUNNER REF NO: TR-RA-131 ADAPTABLE RAM

Tie Rod End

Weight: 1,302

3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011- Front DS300072, 68111304AA

Length: 235 Bolt Metric: M14X1,5 Housing Metric: M27X1,5

YEAR ONLY
2014-2018

RODRUNNER REF NO: TC-RA-198 ADAPTABLE RAM

Control Arm and Ball Joint

Weight: 9,86

1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2018 Front Right
Lower

4877158AH

Length: 430 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-DO-365
Suspension

Ball Joint
Front Lower

68298346AB*, 68298347AB*,
4877199AB, 55398377AB

BC-SB 1347
Control Arm

Bushing
Front Lower

Inner
68298346AB*, 68298347AB*

BC-SB 1348
Control Arm

Bushing
Front Lower

Center
68298346AB*, 68298347AB*

w/Height Control Susp. /
RWD

www.rodrunnerparts.com 25



October 2023

RODRUNNER REF NO: TC-RA-199 ADAPTABLE RAM

Control Arm and Ball Joint

Weight: 9,86

1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2018 Front Left
Lower

4877159AH

Length: 430 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-DO-365
Suspension

Ball Joint
Front Lower

68298346AB*, 68298347AB*,
4877199AB, 55398377AB

BC-SB 1347
Control Arm

Bushing
Front Lower

Inner
68298346AB*, 68298347AB*

BC-SB 1348
Control Arm

Bushing
Front Lower

Center
68298346AB*, 68298347AB*

w/Height Control Susp. /
RWD

RODRUNNER REF NO: TC-T-1618 ADAPTABLE TOYOTA

Control Arm

Weight: 7,099

TACOMA

MODEL NO BODY YEAR DIRECTION OEM NO

N140/N150/N1
60/N170/N190

1995-2004 Front Right
Lower

4806835120

Length: 360,3

4WD / PreRunner

www.rodrunnerparts.com 26



October 2023

RODRUNNER REF NO: TC-T-1619 ADAPTABLE TOYOTA

Control Arm

Weight: 7,099

TACOMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N140/N150/N1
60/N170/N190

1995-2004 Front Left
Lower

4806935120

Length: 360,3

4WD / PreRunner

RODRUNNER REF NO: TC-V-1098 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 1,298

ID.3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E11 2020- Rear Upper
Forward

1EA505323A

Length: 293

www.rodrunnerparts.com 27



October 2023

RODRUNNER REF NO: TC-V-1098 ADAPTABLE VOLKSWAGEN

Lateral Arm

Weight: 1,298

ID.4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E21 2021- Rear Upper
Forward

1EA505323A

Length: 293

www.rodrunnerparts.com 28


